Puzzle 2
[bookmark: _Hlk74415503]Resolve the crossword and use the last word in the puzzle as the the lead to the next puzzle: 
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1.	An Alpha particle
4.	What happens to the atomic number when a beta particle is emitted
5.	The mass of an alpha particle
6.	The only form of nuclear radiation, which is not a particle
9.	Possible unit for radioactivity
10.	The amount the atomic number decreases by when an alpha particle is emitted
11.	Where all radiation is emitted from
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[bookmark: _GoBack]2.	An atom, which could decay
3.	The charge of a proton, nucleus and alpha particle
6.	Detects radiation
7.	The ability to cause atoms to become charged
8.	When an atom emits radiation

